FITTING KIT CONTENTS TLC76CAEM

Bolts / Nuts

Misc Parts

o 4 x M8 Nyloc Nut

4 x M8 x 20mm Flat Washers
4 x M8 Nut

3 x M10 x 40 Bolt

3 x M10 Plain Nut

3 x M10 Spring Washer

o
o
o
o
o
o 6xM10 x 20mm Flat Washer

O

@)
@)
@)

1 x 3 Hole Exhaust Flange Gasket

1 x Muffler Mount

1 x Tail Pipe Mount

1 x TLC76CAEM exhaust pipe (2 Pieces)

4 x M8 x 25mm with 150mm strap

Kit Packed By

Checked By




